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X ~ Binomial(n, 0)

n=18,0=03
e Prob(X = 8)=0.0811
@ Prob(X =16)~ 0

e Prob(X < 10)=0.0386+0.0811+..=0.9939
n=10,0=0.6
n — X ~ Binomial(n,1 — ) — na tabela ver 1 — 0 = 0.4

@ Prob(X = 8)= Prob(n — X = 2) = 0.1209 (Tabela 1, linha 2, coluna
0.4)

@ Prob(X = 0)= Prob(n — X = 10) = 0.0001

@ Prob(X > 3)=1— Prob(X < 3) = Prob(n— X <7)=0.9877
(Tabela 1, linha 7, coluna 0.4)
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X ~ Poisson(\)

A=4.7
e Prob(X = 4)=0.1849
@ Prob(X > 4)=1— Prob(X <4)=1—0.4946
e Prob(X < 10)=0.9910
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Z ~ Normal(0,1)
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Prob(Z = 2.1)= 0.0440 (Tabela 3)

Prob(Z > 1.92)=1 — Prob(Z < 1.92) =1 — 0.9726 (Tabela 4)
Prob(Z > b) = 0.05, b = 2.576 (Tabela 5)

Prob(Z < a) = 0.75,a =? Prob(Z < a) ~ Prob(Z < a) =

1— Prob(Z > a) =0.75 = Prob(Z > a) = 0.25, a € [0.524,0.842]
(Tabela 5)
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X; ~ Normal(p, o?)

5 XX
n
pu=202=2
Usar: _
X—p
Z = ~ N(0,1
7~ N

o (n=10) Prob(X = 2) =Prob(Z = \f/i\ﬁ) Prob(Z = 0) = 0.3989

o (n=100) Prob(X > 3)=1— Prob(X <3)=1— Prob(Z <
ji_/io) =1— Prob(Z <10/v/2) =1~ Prob(Z <7.07)~1-1=0

o (n=50) Prob(X > b) =0.1,b=? Prob(Z > f/f) =01 =
b—2 _ -1 _ — —
Taves = ©71(0.1) =1.282 = b=1282+02+2 = 22564
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n=11

o Prob(Q > q1) = 0.05,q1 = 19.675
o Prob(Q < o) = 0.95 g = 19.675
e Prob(Q > g3) = 0.25 g3 = 13.701
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T ~ t(n)(t — student)

n=12
@ Prob(T > t1) = 0.025 t; = 2.179

o Prob(T < t,) = 0.95
1— Prob(T > tz) = 0.95 — Prob(T > t) = 0.05 — t, = 1.782

n=2>5
@ Prob(T < t3) =0.75, t3 = 0.727
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